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What we call the factor a scientist ¢o,ils Ak ks i8]l alladl o (o2l Jalad) (pana 13la

changes to observe its effects?
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There is a puddle of water behind Ahmed's house, and he decides

to find out how the temperature of the water changes depending on

its depth. Ahmed collected the data in the table below. Which of the

following is not true for the independent variable in this experiment?
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Scientific investigation takes place over years and years. Which of the o Laa @i gy Slpi e S aled) Sl ol

following is the right order of the scientific investigation? falad) Call raaall il ga
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What are the scientific inquiry steps that was — ‘.,:M ",.n.h.li Dl Clghad 7 La
A Ay Jale sal B Lgaladind

used in one part of the case study?
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When evaluating materials, it is important to consider the LkEey) fue ,_,: Agall duilijudll Galgddl ial agall Cpa dpall auds sic

physical properties of the materials. Talgall Auilijudll ailadl) Cra s o Laa q,-'u

Which of the following is a physical property of materials?
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Which of the following is a chemical property? ]
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Materials have mechanical properties that can be tested to

determine the usefulness of the materials and the life of products

manufactured with these materials. The following table shows the

most important of these characteristics.

What do the letters (A) , (D) represent?

mechanical properties 4S1ilSuall Silaall
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Tensile strength is a measure of the amount of tensile stress O 8 Adans auaal (Say o3 A& aga jlaBal (uliBa 4 A& 5 G
an object can withstand before it breaks. According to the il Jualy) a3 gall (s calidh L) s 1) aladialy | ey

graph below, which material is the best for the manufacture
of a product with the greatest tensile strength?
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When an aircraft company designs a new plane, they build several Bac adual gl (Basaa Byl il A aaal Ladic
planes to test it . Those test planes are evaluated and changes to Gbaatll Jlaaly G LIaY) Gl andt atig W,Lady @il

the experimental aircraft are applied as needed. Which step in the dglac Cilghi (e Lé;i cdalal) o duyjatll Bithll e
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Technological systems transform ideas, facts, and principles into Al zsalially gilially lsay) Jagad Ao dua gl gicil) Al Jans

the things we want and need. Which of the following distinguishes gl allaill 3aad o Laa gi gl gliady s A sLusN!
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The figure below shows the arrangement of sugar and salt Jallaal) Ua il s mlally Sl Glivja @il olial Jgad) Tas

molecules after they were dissolved in water solutions, which of

the following statements is incorrect?
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Which of the following is made up of elements and

compounds that have been mixed evenly together?
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Replace A and B in the following diagram fasil AU Lbial) AB g A el Jasdl
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Which is the best model for a heterogeneous

mixture?
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The figure below represents the structure of the

carbon atom, which of the following is true

concerning the carbon atom?
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What does the figure below represent?
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What is the atomic number of an atom Cligig w ANy (ligsl) Led 5)A (5)al) sandl La

that has 2 electrons, 3 protons, and 4 lig yigal dasyly

neutrons?

AAIAY 5 Al dalal Al 4w jaa 62



Boron-10 and boron-11 are isotopes. The i 11— 05 59 10 —Cg sl Ga JS aag
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Look at the periodic table block below for Jgaad) qa CoAll ausa Ao Bl @.ﬁ
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Khalifa found a stone in the garden and measured its size by AalY) Gub o8 dasa (bl allg ARuaal) A aa dads aag

displacement. Based on the data in the following figure, if you know aal) AS o cuale 1) Al Jsal ‘_,:. atlyll Ao 1alaie)
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Which of the following is a chemical property?
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Which of the following is not a characteristic of the solid substance? fdalall Balall Lalsd (oo gl (s Laa ‘53
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Which of the following describes the formation of a precipitate? oy yia Bala &S0 Chea b Laa
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Which of the following are Not the result

of a chemical reaction ?
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How are the particles of a gas different 2,_,5&.\\ dalall Cilaswa (O AGAY) dag La
from the particles of a liquid shown here? olial diusal) ALLL Balad) Cilaswag
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Which describes the formation of a Sy O3S las Ay Laa @

precipitate?
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Suppose you add water to 20 g of sugar to make a solution with a

concentration of 5 g/L. What is the total volume of the solution?
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Which of the following increases the solubility of a gas in a liquid? ¢ bl ua G Andld e & o Laa {gi
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